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vertex:______

y­intercept: _______

point symmetric with y­intercept: _______

coordinates of zeros: _______

equation of axis of symmetry: _______

(­2,0) and (4,0)

Equation: y = ‐x2 + 2x + 8

    x    y
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Equation:

vertex:______

y­intercept: _______

point symmetric with y­intercept: _______

coordinates of zeros: _______

equation of axis of symmetry: _______

y = ­x2 + 2x ­

    x    yx=1
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Equation: y =   x2 ­ x ­

vertex:______

y­intercept: _______

point symmetric with y­intercept: _______

coordinates of zeros: _______

equation of axis of symmetry: _______

    x    y

y­intercept and point symmetric

with y­intercept always have the

same "y" value!!!

x=0.2
x=h

(0.4,­2.5)

This question:  we didn't really need to fill in the table with more x,y points.  We did a couple 
more

just for the amazing practice!!! 
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